TOTAL | SHEET
SHEETS| NO.

FOR INDEX OF SHEETS, SEE SHEET NO.3
FOR SUMMARY OF QUANTITIES, SEE SHEET NO.5

J.ULILE
JOINT UTILITY LOCATION INFORMATION FOR EXCAVATION

1-800-892-0123
OR 811

PROJECT ENGINEER : SUSAN POE
PROJECT DESIGNER : JOHN BROWN

PROPOSED
HIGHWAY PLANS

VARIOUS ROUTES
SECTION D9 GUARDRAIL REPAIR FY22-1

GUARDRAIL REPAIR
VARIOUS COUNTIES

C-89-062-21

06-11-2021 LETTING ITEM 131 STATE 0|: II.LINOIS Eﬁlmcumﬁfr::ml;::;:l Eg%m Nzoo. m;a
DEPARTMENT OF TRANSPORTATION "y
=1 =T 1. (\\

ongd
ongs

- v | oo | ,....\

[ —

B e I e e %
S e 1
w"""m‘ "'--u}

==

LOCATION OF SECTION INDICATED THUS:- -IEEB-

STATE OF ILLINOIS
DEPARTMENT OF TRANSPORTATION

SUBMITTED &2 -'C"f.-' _we\
1,7‘ = =~
REGION FIVE ENGINEER

May 7 zaﬁiméjé—'@

ENGINEER OF DESIGN AND ENMJRONME
May 7. 20297\
DIRECTOR OF AYS PROJECT MP ENT 13
ATION

PRINTED BY THE AUTHORITY
OF THE STATE OF ILLINOIS

CONTRACT NO. 78868




Prepared By: M ﬂ:ﬁ

DISTRICT STUDIES SKP[EHS“"ENQINEER

Examined By: ) \M\L&QJ

DISTRICT LAND AC@QISIT]ON ENGINEER

Examined By: L Pt

DISTRICT PROGR

AM~DEVELOPMENT ENGINEER
Examined By: m _Q

DISTRICT OPERATIONS ENGINEER

Examined By:
DISTRICT PROJECT IMPLEMENTATION ENGINEER

Examined By: ~
D%\TRI@g dNSTRU%T]ON ENGINEER

Examined By: —(—= <=2 =>

DISTRICT MATERIALS ENGINEER

FILE W+ USER WWE ¢ poesl DESIGNED - REVISED - %’?& I SECTION COUNTY J&'g‘r's S'quET
et \planvoomdotllinos.govPWIDOTAD \IDOT Off1000\District 9\Pro w0 te\GoonokdBNNIN 0 \besms t-iae\guord-arl.dgn REVISED - STATE OF ILLINOIS SIGNATURE SHEET VAR, [09 CUARDRAIL REPAIR FY22-1] VARIOUS | 20 2

PLOT SCALE 1 H.0008 7 1, CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION —_ | _CONTRACT NO. 78868
Default PLOT DATE « 2/117202) OATE - REVISED - SCALEs | sHEET OoF SHEETS| STA. TO STA. |l|.tllb|s|rm. AlD_PROXCT




INDEX OF SHEETS

SHEET NO. DESCRIPTION

1 COVER SHEET

2 SIGNATURE SHEET

3 INDEX OF SHEETS, STANDARDS

4 GENERAL NOTES

5-17 SUMMARY OF QUANTITIES

8 -1 STEEL PLATE BEAM GUARDRAIL STANDARD INSTALLED PRIOR TO JANUARY 1, 2007

12 - 14 TRAFFIC BARRIER TERMINAL, TYPE 6 STANDARD INSTALLED PRIOR TO JANUARY 1, 2007
15 -17 TRAFFIC BARRIER TERMINAL, TYPE ©A STANDARD INSTALLED PRIOR TO JANUARY 1, 2007
18 - 19 TRAFFIC BARRIER TERMINAL, TYPE 6B STANDARD INSTALLED PRIOR TO JANUARY 1, 2007
20 CRASH-CUSHION ATTENUATING TERMINAL (C-A-T)

LIST OF STANDARDS

000001-08 STANDARD SYMBOLS, ABBREVIATIONS AND PATTERNS

001006 DECIMAL OF AN INCH AND A FOOT

630001-12 STEEL PLATE BEAM GUARDRAIL

630006 NON-BLOCKED STEEL PLATE BEAM GUARDRAIL

630016 BACK SIDE PROTECTION OF GUARDRATIL

630101-10 STRONG POST GUARDRAILATTACHED TO CULVERT

630301-09 SHOULDER WIDENING FOR TYPE 1 (SPECIAL) GUARDRAIL TERMINALS
631011-10 TRAFFIC BARRIER TERMINAL, TYPE 2

631026-06 TRAFFIC BARRIER TERMINA, TYPE 5

631031-17 TRAFFIC BARRIER TERMINAL, TYPE 6

631032-09 TRAFFIC BARRIER TERMINAL, TYPE 6A

631033-08 TRAFFIC BARRIER TERMINAL, TYPE 6B

635001-02 DELINEATORS

636001-02 CABLE ROAD GUARD SINGLE STRAND

643001-02 SAND MODULE IMPACT ATTENUATORS

664001-02 CHAIN LINK FENCE

665001-02 WOVEN WIRE FENCE

701001-02 OFF ROAD OPERATIONS, 2L, 2W, MORE THAN 15" AWAY

701006-05 OFF ROAD OPERATIONS, 2L, 2W, 15" TO 24” FROM PAVEMENT EDGE
701011-04 OFF ROAD OPERATIONS, 2L, 2W, DAY ONLY

L IST OF STANDARDS

701101-05

701106-02

701201-05

701301-04

701400-10

701401-12

701406-12

701421-08

701422-10

701428-01

701456-05

701501-06

701502-09

701601-09

701602-10

701606-10

701701-10

701901-08

725001-01

782006-01

OFF ROAD OPERATIONS, MULTILANE, 157

OFF ROAD OPERATIONS. MULTILANE, MORE THAN 15" AWAY

TO 24’ FROM PAVEMENT EDGE

LANE CLOSURE, 2L, 2W, DAY ONLY FOR SPEEDS GREATER OR EQUAL TO 45 MPH

LANE CLOSURE, 2L, 2W, SHORT TERM OPERATIONS

APPROACH TO LANE CLOSURE, FREEWAY/EXPRESSWAY

LANE CLOSURE, FREEWAY/EXPRESSWAY

LANE CLOSURE, FREEWAY/EXPRESSWAY, DAY OPERATIONS ONLY

LANE CLOSURE, MULTILANE, DAY OPERATIONS ONLY FOR SPEEDS GREATER OR EQUAL TO 45 MPH
LANE CLOSURE, MULTILANE, FOR SPEEDS GREATER THAN OR EQUAL TO 45 MPH TO 55 MPH

TRAFFIC CONTROL SETUP AND REMOVAL FREEWAY/EXPRESSWAY

PARTIAL EXIT RMAP CLOSURE FREEWAY/EXPRESSWAY

URBAN LANE CLOSURE, 2L, 2W, UNDIVIDED

URBAN LANE CLOSURE, 2L, 2w, WITH BIDIRECTIONAL LEFT TURN LANE

URBAN LANE CLOSURE, MULTILANE, 1W AND 2W WITH NONTRAVERSABLE MEDIAN
URBAN LANE CLOSURE, MULTILANE, 2W WITH BIDIRECTIONAL LEFT TURN LANE
URBAN SINGLE LANE CLOSURE, MULTILANE, 2W WITH MOUNTABLE MEDIAN

URBAN LANE CLOSURE, MULTILANE INTERSECTION
TRAFFIC CONTROL DEVICE
OBJECT AND TERMINAL MARKERS

GUARDRAIL AND BARRIER WALL REFLECTOR MOUNTING DETAILS

FILE NAME =

peiN\\plonr

Default

dot

1hine

USER NAME DESIGNED -

ts\100T Of fices\District 9\Pro jects\Geomelt:HRANMN ta\Geometr ics\gusrdrail.dgn

= poesl

REVISED -
REVISED -

PWIDOTAD:

PLOT SCALE = 100.0000 * / in. CHECKED -
PLOT DATE = 2/18/2021 DATE -

REVISED -
REVISED -

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

F.A. .
RTE.

SECTION COUNTY

TOTAL

SHEETS

SHEET
NG,

INDEX OF SHEETS & LIST OF STANDARDS rry

D9 GUARDRAIL REPAIR FY22-1 VARIOUS

20

3

CONTRACT NO. 78868

SCALE: [ sHEET OF SHEETS] STA. TO STA.

JILLINGIS] FED, AID PROJECT




GENERAL NOTES

COMMITMENTS

BEFORE ORDERING THE IMPACT ATTENUATORS, THE CONTRACTOR MUST CONTACT THE RESIDENT ENGINEER TO NONE

RECEIVE APPROVAL OF THE PROPOSED INSTALLATION,

ALL WORK IS TO BE REPLACED IN KIND OR AS INDICATED ON THE CONTRACT PLANS OR SPECIAL PROVISIONS.

THE LOCATIONS OF THE REPAIR AREAS SHALL BE DETERMINED BY THE ENGINEER.

GUARDRAIL WORK WILL INCLUDE ALIGNMENT AS NECESSARY TO RESTORE THE RAIL TO THE ORIGINAL

CONDITIONS.

REMOVAL OF DAMAGED MATERTIALS WILL INCLUDE DISMANTLING, LOADING, HAULING AND DISPOSAL. THE WORK

SITE WILL BE LEFT IN A SAFE AND ORDERLY CONDITION.

THE LIMITS OF THE DAMAGED GUARDRAIL WILL BE MARKED WITH PAINT. THE REPLACEMENT PARTS AND THE

QUANTITIES INDICATED ARE WITHIN THESE LIMITS AS MARKED.

REMOVED GUARDRAIL THAT IS NOT REPLACED ON THE SAME DAY MUST BE DELINEATED WITH LIGHTED

BARRICADES. NO LOCATIONS WILL BE LEFT WITHOUT EITHER LIGHTED BARRICADES OR RESTORED

GUARDRAIL AT ANY TIME.

ILLINOIS STATE LAW ENFORCES A 48-HOUR NOTICE TO BE GIVEN TO UTILITES BEFORE DIGGING., FIELD

MARKING OF FACILITIES MAY BE OBTAINED BY CONTACTING J.U.L.I.E. (PHONE: 800 892-0123) OR FOR

NON-MEMBER, THE UTILITY COMPANY DIRECTLY.

THE CONTRACTOR SHALL BE ADVISED THAT THE GUARDRAIL PAY ITEMS INCLUDED IN THE PLANS MAY BE USED

TO REPLACE/REPAIR SPBGR AND TRAFFIC BARRIER TERMINALS FOR THE NEW MIDWEST STANDARD AS SHOWN

ON THE HIGHWAY STANDARDS AS WELL AS SPBGR AND TRAFFIC BARRIER TERMINAL INSTALLED PRIOR TO JAN.

1, 2007 AS SHOWN IN THE PLAN DETAILS. NO ADDITONAL COMPENSATION WILL BE ALLOWED FOR UTILIZING

THE CURRENT MIDWEST STANDARDS.
FILE NAME = USER NAME = poesl DESIGNED - REVISED - fopa s SECTION COUNTY  [JOTAL | SHEET
pwiN\planroom.dot.illin PWIDOT\Docuhents\IDOT Offices\District 9\Pro jects\GoomelIRANIN to\Geome tr ics\guordr s1l.dgn REVISED - STATE OF ILLINOIS GENERAL NOTES & COMMITMENTS VAR, |03 GUARDRAIL REFAIR FY221]  VARIOUS 20 4

PLOT SCALE = 100.0000 */ in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION CONTRACT NO. 78868

Default PLOT DATE = 2/18/2021 DATE = REVISED - SCALE: |SHEET OF SHEETS| STA. TO STA. JiLiNoIs[FED. AID_PROJECT




SUMMARY OF OUANT I -|- I ES COUNTY: COUNTY: VARIOUS VARIOUS VARIOUS
ROUTE: ROUTE: VARIOUS VARIOUS VARIOUS
FUND ING: FUND ING: 100% STATE 100% STATE 1004 STATE
LOCATION: LOCATION: RURAL RURAL RURAL
CODE TOTAL MCHD HIT AND RUN HIGH TENSION CABLE
ITEM DESCRIPTION UNIT
NUMBER QUANTITY 0021 0021 0021
25000100 SEEDING, CLASS 1 ACRE 10 5 3 2
63100167 TRAFFIC BARRIER TERMINAL, TYPE 1 ( SPECIAL) TANGENT EACH 97 80 17
63100169 TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) FLARED EACH 11 8 3
64300260 IMPACT ATTENUATORS (FULLY REDIRECTIVE, NARROW), TEST LEVEL 3 EACH 6 4 2
64401300 HIGH TENSION CABLE MEDIAN BARRIER TERMINALS EACH 13 5 5 3
67100100 MOBILIZATION L SUM 1 1 0 0
X0325899 REPAIR HIGH TENSION CABLE (GIBRALTAR) FoOT 400 166 125 109
X0325900 REPAIR HIGH TENSION BARRIER TERMINAL ( GIBRALTAR) EACH 13 6 3 4
X0325902 REMOVE AND REPLACE POSTS ( GIBRALTAR) EACH 156 31 25 100
X0326201 REPAIR HIGH TENSION CABLE ( TRINITY) FOOT 390 166 125 99
X0326202 REPAIR POSTS ( TRINITY) EACH 68 31 25 12
X0326203 REPAIR HIGH TENSION CABLE SYSTEM END SECTION ( TRINITY) EACH 12 6 3 3

FILE NAME - USER NAME : poss! DESIGNED - REVISED - Ll - SECTION counTy | JOTAL | SHEET
puiN\plonroom.dot.illino1s.goviPWIDOTAD 100T Offices\District 9\Projects\GeomeltsIRATIN to\Geome tr ics\guordrail.dgn REVISED - STATE OF ILLINOIS SUMMARY OF QUANTITIES VAR, |09 GUARDRAIL REPAIR FY22-1] VARIOUS 20 5

PLOT SCALE : 100.0000 “ / in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION CONTRACT NO. 78868
Defoult

PLOT DATE

= 271172021 DATE - REVISED -

SCALE:

SHEET

OF SHEETS| STA. TO STA.

[iLLinois| Feo. alo PROJECT




ROUTE: ROUTE: VARIOUS VARIOUS VARIOUS
FUND ING: FUND ING: 100%Z STATE 100%Z STATE 100%Z STATE
LOCATION: LOCATION: RURAL RURAL RURAL
CODE TOTAL MCHD HIT AND RUN HIGH TENSION CABLE
ITEM DESCRIPTION UNIT

NUMBER QUANTITY 0021 0021 0021

X6300210 GUARDRAIL BLOCKS EACH 400 300 100

X6300215 RAIL ELEMENT PLATES EACH 239 226 13

X6300217 RAIL ELEMENT PLATES (RADIUS) EACH 12 9 3

X6300220 EXTRUDER HEAD EACH 7 4 3

X6300230 STEEL POSTS EACH 244 231 13

X6300231 STEEL POST, ATTACHED TO STRUCTURES EACH 3 3

X6300235 WOOD POSTS EACH 31 16 15

X6310088 TRAFFIC BARRIER TERMINAL TYPE 6A (SPECIAL) EACH 5 5

X6310176 TRAFFIC BARRIER TERMINAL, TYPE 2 (SPECIAL) EACH 6 6

X6310214 TRAFFIC BARRIER TERMINAL, TYPE 6 (SPECIAL) EACH 6 6

X6311215 TRAFFIC BARRIER TERMINAL (C-A-T) EACH 8 5 3

X6311217 TRAFFIC BARRIER TERMINAL, TYPE 6B (SPECIAL) EACH 6 6

REV. - MS
FILE NAME - USER NAME_= poss] DESIGNED - REVISED - A SECTION COUNTY | JTAL T SHEET
puiN\plonroom.dot.illino1s.goviPWIDOTAD 100T Offices\District 9\Projects\GeomeltsIRATIN to\Geome tr ics\guordrail.dgn REVISED - STATE OF ILLINOIS SUMMARY OF QUANTITIES VAR, |09 GUARDRAIL REPAIR FY22-1] VARIOUS 20 6
PLOT SCALE = 102.0000 "/ in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION CONTRACT NO. 78868

Defoult PLOT DATE = 2/11/2021 DATE - REVISED - SCALE: SHEET OF SHEETS' STA. TO STA. JILLINOIS[ FED, AID PROJECT




ROUTE: ROUTE: VARIOUS VARIOUS VARIOUS
FUNDING: FUNDING: 100% STATE 100% STATE 100% STATE
LOCATION:= LOCATION: RURAL RURAL RURAL
CODE TOTAL MCHD HIT AND RUN HIGH TENSION CABLE
ITEM DESCRIPTION UNIT
NUMBER QUANTITY 0021 0021 0021
X6331110 STEEL POSTS, SPECIAL EACH 3 3
X6430210 REMOVE AND REINSTALL IMPACT ATTENUATORS EACH 34 31 3
X6640298 CHAIN LINK FENCE (SPECIAL) FOOT 163 101 62
X6650208 WOVEN WIRE FENCE REMOVAL AND REPLACEMENT FOOT 101 101
X7010102 NIGHTTIME WORK ZONE LIGHTING EACH 40 22 18
X7011834 TRAFFIC CONTROL AND PROTECTION, CALL OUT WORK EACH 53 36 17
X7011836 TRAFFIC CONTROL AND PROTECTION, FREEWAY/EXPRESSWAY, CALL OUT WORK EACH 60 38 17 5
20052410 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 1 SPECIAL ( TANGENT) EACH 24 16 8
70052415 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 1 SPECIAL (FLARED) EACH 8 5 3
20053200 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 6 EACH 7 4 3
20053210 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 6A EACH 5 5
20053220 REPAIR TRAFFIC BARRIER TERMINAL, TYPE 6B EACH 5 5
REV. - MS
FILE NAME = USER NAME = poesl DESIGNED - REVISED - e SECTION COUNTY STIPEPTLS S:%ET
puit\plonroom.dot ovPWIDOTAD, 1007 OFfices\Drstrict 9\Projecte\GeomalORANIN toCoome - rosguer dr o1l.dgn REVISED - STATE OF ILLINOIS SUMMARY OF QUANTITIES - ]

Default

PLOT SCALE = 100.0000 * / in.

CHECKED - REVISED -

PLOT DATE

= 271172021 DATE - REVISED -

DEPARTMENT OF TRANSPORTATION

VAR. |D3 GUARDRAIL REPAIR FY22-1 VARIOUS

20

1

SHEET

OF SHEETS| STA. TO STA.

CONTRACT NO. 78868

JiLLinois| Feo. alo PROJECT




Rail element splice

(See Detail)
1.905 m 1.905 m
(6’-3'") (6'-3"")

PR
Steel plate A

beam guardrail

'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
[

a

SO

red

ELEVATION

End of
structure

2 - 2 Unit expansion anchors

for M6 (54) bolts with

standard washers. (Staggered)

After this post has b?ff///ﬁ
located, drill holes in ,

TYPE A

1.905 m (6’-3") Typical post spacing

End of

concrete for
attachments.

structure

block-out

e

TYPE C

953 (3714 Block-out spacing

Rail element splice

(See Detail) /
953 953 953 953

1 | 1 1
| I o I | I j I |
Edge of e 610 2 min. i (37/2) i (37/2) i (37%2) i (37%2) i
shoulder i 1 e Y 0
( I 1 I . I:: I (
—'}-—-—l --------- [ —pp————— e — - — = — = — :.L'.|_ ------ B — = — = — ')-—
% PSR Lk oy VRS R
&8 Hinge point - 1 1 2 1
7 Jlo - i - i i i
i3 Lo - i - i i i
| o I voA o Vo B
. E|=x - - - . i
Slope 1:10 L vl P P P Do : b
or flatter ] A P P P b b
1 1 (\‘ — LaJd LadJd Lad Lad Lad
BENF aed
o +
b o ELEVATION
SECTION A-A TYPE B
953 (37/2) Closed post spacing
Rail element splice
— - (See Detail
o | i
oI H|= v . 1.905 m |
o |y ~[9 ——
& = gla | (6-3") | C#
SRS S7 [T . .
Slope 1:10 . ‘é’ g y — : d
or flatter I 7777
P - V Steel plate
Finished - beam guardrail
ground line | g ” Bisck :
o ock-outs
B o —\\ NS~
- \. —— <,
SECTION c-C Troffic ced
PLAN
TYPE D
Double steel plate beam guardrail
Concrete 1.905 m (6’-3') typical post spacing
structure
2327 \
9%
0 + GENERAL NOTES
5 - ‘; Steel block-outs only All slope ratios are expressed as units
o P of vertical displacement to units of
~ ("_.\‘I THIS DETAIL IS APPLICABLE TO THE GUARDRAIL horizontal disp|ocemen1- (V:H).
- INSTALLED PRIOR TO JANUARY 1, 200T7. All dimensions are in millimeters (inches)
unless otherwise shown,
: : DATE REVISIONS
Slope 1:10 ' 2-1-06 1o STEEI_ PI_ATE BEAM
or flatter ] -1- eleted plate washer F.
Finished GUARDRAIL

SECTION B-B material on sheet 4,

ground line

(Sheet 1 of 4)

1-1-05 [Rev. post in impervious

STANDARD 630001-06

FILE NAME =

peiN\\plonr

Default

USER NAME = poesl DESIGNED - REVISED -
dot.illin PWIDOT\Doculents\1DOT Of fices\District 9\Projects\Geomel:SRAMN L \Geometrics\guardrail.dgn REVISED -
PLOT SCALE = 26.0000 * / . CHECKED - REVISED -
PLOT DATE = 2/11/2021 DATE - REVISED -

DEPARTMENT OF TRANSPORTATION

STEEL PLATE BEAM GUARDRAIL STANDARD

STATE OF ILLINOIS INSTALLED PRIOR TO JANUARY 1, 2007

F.A. . TOTAL [ SHEET
RTE. SECTION COUNTY SHEETS| ~NO.
VAR. [D9 GUARDRAIL REPAIR FY22-1 VARIOUS 20 8

SCALE: [ sHEET OF SHEETS] STA. TO STA.

CONTRACT NO. 78868

JILLINGIS] FED, AID PROJECT




149
(5%)

/—S’rd. flat washer

.- Bolt not to extend

more than 6 (/)
x/_pos’r nut
_________ 15

178
(7

AVA

356
(14)

{
. R
[% [ %8

356

Post bolt
with std.
hex nut
Post bolt wi-rh_/

std. hex nut

200x150 (8x6) Rough

/sown timber post

150x150 (6x6) Rough
sawn timber toe-
nailed to post

W150x13.5 (W6x9)

or W150x12.75 (W6x8.5)
steel post

NSHZENSTIIN SF N PLONPT ORI

WOOD POST CONSTRUCTION

STEEL POST CONSTRUCTION

|

™ 29
305 As required
(12) STEEL BLOCK-OUT DETAIL . ~
(732) =
19 Dia. hole ¢ © m@
(Ya) ~ ' o
I S S 0) =
1 m —
i = 1
| .
sasie] || s U oo
or g :
37 01 Vel ( ¥g) suit bolt

NOTE
POST OR SPLICE BOLT & NUT

Plate A shall be placed between
rail element and block-out at non-
splice mounting points only when
steel block-outs are used.

PLATE A

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
(Sheet 2 of 4)

INSTALLED PRIOR TO JANUARY 1, 200T7.

STANDARD 630001-06
FILE NAME = USER NAME = poesl DESIGNED - REVISED A, . SECTION COUNTY [ JOTAL | SHEET
pwi\\plenroom.dot.llin PWIDOTAD ts\IDOT Of fices\District 9\Pro jects\Geomel::IRANNta\Geome r 1cs\guardrail.dgn REVISED STATE OF ILLINOIS STEEL PLATE BEAM GUARDRAIL STANDARD ?,.Li'_ 09 GUARDRAIL REPAIR FY22-1] VARIOUS SHEETS Ng‘
PLOT SCALE + 260000/ i CHECKED - REVISED DEPARTMENT OF TRANSPORTATION INSTALLED' PRIOR T JANUARY 1,007 CONTRACT NO. 78868
Defsult PLOT DATE = 2/1172021 DATE - REVISED SCALE: | SHEET OF SHEETS| STA. TO STA. JILLINGIS[FED. AID PROJECT




Place standard end shoe
between splice plate and
rail element

% x 1/

8 13 Steel plat
(122 eel plate
/2 W
51 L 108 | 108 | 51 )
(2) I 4/ I RUA | (2) (?5:; |)3IO. hole 70
i : 16
@ ! s N B2
i i i 2 1S\
| | || 19x64 Slotted hole ”’la ' o=
< | | Fax2f T E)’ ~|2
: : : |
S S ,__/__!____ F i
: i : 318 Lap R
E I - | TR
i : i 12, R
' - (521) 108, 108, ;521) 19x64 Slotted hole
I | I !(4/4) ! (4 /4)! (3/4X2|/2)
23x29 Slotted holes —eb—;-és-/
! L
Traffic - : b
SPLICE PLATE puntl W I DR 720 5 S PR
) i / E
‘;L ..... el

Class A rail

\ZZSxZ‘B

END SECTION

5 Steel
¥

plate

Rail element

Neutral axis
"
|

washer on front
face. (8 required)

hole

25 Dia. holes
[§0]

5l 102 | 102 | 102 |51
(2)‘ ) ‘ ) ‘ 4 |(2)
= S e T S >
__________________________________ \A Post b
=T S8 S 20 Dia.
s (3/4)
408 %
(16)
NOTE
Anchor plate T shall be used to attach
cable assembly to guardrail when required
on traffic barrier terminals.
ANCHOR PLATE T DETAILS
184 ) 578
(Ta) (22%)
76 . 108 | 108 108 |, 108 51
S CPANICAN RCVANRGIAY 2
1 i ' )
A G R N W
: ;i ran: . — o
ol& —P I v ! ﬁ?\ W
=4 NS : I T ;
w1y "—'—!'—fi}'—'r'—'— T R
S N A W
T
% S5 AN
1 | N
|
162
(30)
23%x29 Slotted Holes (D =19x64 Slotted hole

(% x 1Y)

(¥ax2Y>)
: | :

0
o

(3%4)

ALTERNATE END SHOE

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL

INSTALLED PRICR

element (B, x 1Y) Slotted
holes for M16 (34) splice bolts
RAIL ELEMENT SPLICE
23x76 (%, x 3) Sloets for
splice bolts with std. galv.
+ washer placed under locknut
700 £ |
(27',4) '
. 2|16 | ol 102 . 108 | 108 : !
A ! e (4) 44'/q) |(4'/a); ;
P 2 0= | .
I T e——
== |
Class A B e o s T e +
rail element == : d: |
| ! ! O 1
159 —— -t e | h
6/a) | T 19x83 Slotted hole 25 Dia. holes
. | . | ( (¥ax3Y) (M
[+ | [+ —_
[ : | w [
T S— 7 4
--J,-—-Eia-—J, ——————————— |-—|--—--- —
f T
i i \ t
] : 7
—b IS5 NOTE
! L_’_, When end shoe is attached to a bridge parapet which has an expansion

joint, the bolts shall be provided with a locknut or double nut and shall
be tightened only to a peoint that will allow guardrail movement.

The standard end shoe shall be attached to the concrete with pre-drilled

TO JANUARY 1, 2007.

(optional)

or self-drilling anchor bolts. The anchor cone shall be set flush with

the surface of the concrete.

Externally threaded studs protruding from the surface of the concrete

will not be permitted.

STEEL PLATE
GUARDRAI

BEAM
L

(Sheet 3 of 4)

END SHOE
= 7= STANDARD 630001-06
FILE NAME - USER NAME = pomal DESIGNED - REVISED - Fobe SECTION COUNTY  [JOTAL | SHEET
RTE. SHEETS| " NO,
pen\Aplonroom.dot.llin PWIDOTAD: ts\IDOT OF fices\District 9\Projects\GaomelIRANN to\Geonetrica\guardrail.dgn REVISED - STATE OF ILLINOIS STIE': ;T:tﬁ;; ?’i?glll? .:.;: ﬁRADI\?: :\I;{Ys TAI:IOJ: - VAR. |09 GUARDRAIL REPAIR FY22-1| VARIOUS Hzo ":o
PLOT SCALE = 26.0000 * / in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION 1.2007 CONTRACT NO. 78868
Default PLOT DATE = 2/1172021 DATE N REVISED - SCALE: [ sHeET OF SHEETS| STA. TO STA. [ILLINOIS[FED. AID PROJECT




Optional

. ~—round

Sragpeeett hole

535
(21

Note:

_+_

[f it is necessary for D to be more than 300 (12) and

203 (8) min. (Steel post)
250 (10)min. (Wood post)

PLAN

less than 3.0 m (10'-0') type M-5 (M-2)curb and gutter
(Std. 606001 shall be used in front of and in advance
of the guardrail

GUARDRAIL PLACED BEHIND CURB

l

Finished éggiiﬁf?& 1
ground line
% SRR
>
Ledge?\\ﬁ |

Drilled Hole

.13 m - 2.06 m

(4-3/" - 69"

Note:

: Lnx

Ledge line is top of rock
ledge or hard slag fill.

ELEVATION

FOOTING FOR POST WHEN IMPERVIOUS

(D = 0 desirable to 300 (12) maximum)
A w
Steel Post|Wood Post

0 - 460 610 530 580
(0 - 18) (24) (21 (23)
>460 - 825 305 203 250
(>18 - 41.5 (12) (8) (10)
>825 - 1.13 m 305 - 0 203 250
(>41.5 - 53.5 (12 - 0 (8) (10)

MATERIAL IS ENCOUNTERED

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
INSTALLED PRIOR TO JANUARY 1, 2007,

356

AN

/_/\~

M24 (1) double
nuts or locknuts
and washer

WOOD BLOCK-OUT AND
STEEL POST DETAILS
990 |
(39)
M24x178 49 133 . l/ Symm. about ¢
(1x7) o (I]_IE%GI) O(5|/4) &
. 3% |
Qm (¥a) dia, (6x1N

galvanized cable

connected

CABLE ASSEMBLY

(18,100 kg {40,000 Ibs.) min. breaking strength)

Tighten to taut tension,

STEEL PLATE BEAM

GUARDRAIL

(Sheet 4 of 4)

STANDARD 630001-06

FILE NAME =

peiN\\plonr

Default

dot

1hine

PWIDOTAD:

USER NAME = poesl DESIGNED - REVISED

ts\IDOT Of fices\District 9\Projects\Geomel:3RANMMN to\Ceometrics\guardrail.dgn REVISED
PLOT SCALE = 26.0000 * / . CHECKED - REVISED
PLOT DATE = 2/11/2021 DATE - REVISED

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

STEEL PLATE BEAM GUARDRAIL STANDARD
INSTALLED PRIOR TO JANUARY 1, 2007

FA. . TOTAL
e, SECTION COUNTY

SHEETS

SHEET
NG,

VAR. |D3 GUARDRAIL REPAIR FY22-1 VARIOUS 20

11

SCALE:

[ sHeET oF

SHEETS| STA. TO STA.

CONTRACT NO. 78868

JILLINGIS] FED, AID PROJECT




Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6 (Il

each)

PARAPET
OR WINGWALL

Concrete parapet
or parallel wingwall

Formed or
drilled 25 (1) ——___

Steel
bearing
plate

hole

T
[

i1

A
7

Bridge approach curb

7 )

Pay limits of other type

— B % &0

/8

N

]

AL

Parapet wood
block-out

M20 (¥
bolts

Thrie beam

Two sections of thrie beam one

set inside the other

L 4

2.858 m (9-4'/5")

Transition section included in
TRAFFIC BARRIER TERMINAL TYPE &

™ (3.4mm (10 gauge)

PLAN

6.667 m (2110,

rail element)

6 spaces at 476 (1I'-6¥4")

7 spaces at

953 (315

end shoe 184
7'/
e — = = = = = = = _ .
olg 8<j ST S T T T [ [ T S o [ T [ S0 o '
Bl ' o, ?f
P! il P ! A . Pl P P | L A — — 1
P o o b b b b o b o § Lo AN\ 4
1 2 3 4 5 6 7 8 9 10 1 ” s
12
ELEVATION
610 (2") min,
all posts /—Wood Blockout
_ GENERAL NOTES
See Standard 630001 for details of
guardrail not shown.
! ! ol
: Q S Thrie beam rail shall be bolted to block-out
' = el at all posts.
] &~
°.£’: ,L See Standard 420401 for details of bridge
| = approach pavement,
e S , .
2 [\ /,,§ All slope ratios are expressed as units
s /§// . : of vertical displocement to units of
\7/// W150x13.5 (W6x9.0) i v Bridge approach horizontal displacement (ViH),
Steel post and woo&\: " pavement
block-out All dimensions are in millimeters (inches)
H : unless otherwise shown.
U S
.
O TERMINAL, TYPE 6
THIS DETAIL IS APPLICABLE TO THE GUARDRAIL —_— £
SECTION A-A Sheet 1 of 3
INSTALLED PRIOR TO JANUARY 1, 2007.
STANDARD 631031-05
FILE NAME = USER NAME = poesl DESIGNED - REVISED - F.A. . SECTION COUNTY |JOTAL [ SHEET
pen\Aplonroom.dot.llin PWIDOTAD: ts\IDOT OF fices\District 9\Projects\GaomelIRANN to\Geonetrica\guardrail.dgn REVISED - STATE OF ILLINOIS TRAFII':\:(S:T:LAE?E?,R.:-::'\T:)\I AJLALTJI;.\ERYG STZI;%DARD F\e/./rxi'_ D9 GUARDRAIL REPAIR FY22-1| VARIOUS SHEETS ":{2)‘
PLOT SCALE = 26.0000 * / in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION 1.2007 CONTRACT NO. 78868
Default PLOT DATE = 2/11/2021 DATE = REVISED - SCALE: |SHEET OF SHEETS| STA. TO STA. JiLiNoIs[FED. AID_PROJECT




5 Epoxy grouted M20 (¥
anchor bolts with standard
washers. After tightening, cut|

Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6 (I each)

OTHER CONCRETE STRUCTURE

the anchor bolts flush with

nuts, and damage the nut -
to prevent it from Type B concrete curb Pay limits of other type
loosening. \ I_, B /
L; B Transition section included in ‘
TRAFFIC BARRIER TERMINAL TYPE 6
Two sections of thrie beam one set inside the other | - |
i (3.4mm (10 gauge) rail element)
PLAN
//
I 2.858 m (9-4"5") | 6.667 m (21'-10'/45")
] 6 spaces at 476 (1'-6%;) | 7 spaces at 953 (3'-1Y4')
Thrie beam 1 9.144 m |
end shoe W N | (30"-0" ‘
|
T i — = T = = = i = = = =
. LI [ L [ [ == L . g :-°5:>:. HEHE
© i R N e = = - e,
2IX o 312 i o i L o o L - ' 2 =
g‘,\} Concrete ' Ll 8_1?
structure Y i N d i : I Yo H HE i T —
b b b ; b b b B i i ::/AW/41§::A®V,&‘
2 3 4 6 7 8 9 10 11 N i
12
ELEVATION
610 (2°) min.
all posts Wood Blockout
Type B concrete
~— curb BI15 (B6)
L L 2] -
B ;
el
tla
1
: gt
o) IR SASILS 2
2 [\ /§ i i H ~N
\: g’// T | cose L0
u n ' ope 1:10 or
/! e i | Fatter THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
_J/ﬁ + E INSTALLED PRIOR TO JANUARY 1, 2007.
W150x13.5 (W6x9.0) steel s X :
post stfmeh -t
T Ly
U TERMINAL, TYPE ©
Sheet 2 of 3
SECTION B-B
STANDARD 631031-05
FILE NAME = USER NAME = poesl DESIGNED - REVISED - A, . SECTION COUNTY [ JOTAL | SHEET
pe\\planroom.dot.illin PWIDOTAD: s\100T Of fices\District 9\Projects\Geomel3RANMN to\Geometrics\guardrail.dgn REVISED - STATE OF ILLINOIS TRAEEIC BARRIER TERMINAL, TYPE & STANDARD F\e/./rxi'_ D9 GUARDRAIL REPAIR FY22-1| VARIOUS SHEETS ":{;
PLOT SCALE + 260000/ i CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION INSTALLED' PRIOR T JANUARY 1,007 CONTRACT NO. 78868
Defsult PLOT DATE = 2/1172021 DATE - REVISED - SCALE: |SHEET OF SHEETS| STA. TO STA. JILLINGIS[FED. AID PROJECT




T
(3)
762
L 50 (30)
i (2)
ol | i, 203 108 , 108 76
Sboo® [(4Y/a)(4"a)} (3
(] == S 1D ~
- __{? i A |2
= ; o b | Ee
SR T
~ 15 ! e -
88 e T o7 3R
- e | i Cp ] CQ ~
S| | I s S ) N 8
2T 9 I | -
e NS R
' . ' . —|w©
ﬁ} | L 1 \NDP | 4
gl [ 25 w oie. \
& holes (typ.)
25x%51 (1x2) (typ.)

19x64 (¥ax2Y/5)

(3%

slotted holes

slotted holes

(typ.)

THRIE BEAM END SHOE DETAIL

509

20)

66
(2'/5)

66
(2Y/5)
194

44

163

| 194

163
(6% |

____.J]a_____%:;_________
(1%) : (6%g)

hN

25 (1) Dia.
holes (typ.)

762

PARAPET WOOD BLOCK-OUT DETAIL

(30

16 (54) Steel

PARAPET STEEL BEARING PLATE DETAIL

(5 each individual 125x125x16 (5x5x34) steel
plates with centered 25 (1)holes may be
substituted for the plate shown.)

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL

T—
\\P'
L P
POSTS 1-11 WOOD BLOCKOUT DETAIL POST 12 WOOD BLOCKOUT DETAIL
var, 36 e ) 36
|‘—‘| (12 ~| - | (1Y/5)
RS e
SRS RE
| | | -0
1]
o 1 lge
—_ | =
I
i |7l
e / M)
25 min, " g / L 25 (1) Dia.
(1 holes (typ.)

BARRIER

T C
TERMINAL, TYPE 6

Sheet 3 of 3

INSTALLED PRIOR TO JANUARY 1, 2007.

STANDARD 631031-05

FILE NAME - USER NAME = possl DESIGNED - REVISED - TRAFFIC BARRIER TERMINAL TYPE 6 STANDARD Rk SECTION COUNTY  [JOTAL | SHEET
pei\\planroom.dot.i Il PWIDOT\Docubents\IDOT Ofices\District 9\Projects\GaomelHIRANIN ta\Ceometr ic3\guardral.dgn REVISED - STATE OF ILLINOIS INSTALLED PRIOR TO JANUARY 1. 2007 VAR. |D9 GUARDRAIL REPAIR FY22-1| VARIOUS 20 14

PLOT SCALE = 26.0000 '/ in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION ! CONTRACT NO. 78868
Defoult PLOT DATE = 271172021 DATE N REVISED - SCALE: [ sHeET oF SHEETS| STA. TO STA. [icinois]Feo. el PROJECT




Pay limits of TRAFFIC BARRIER TERMINAL TYPE 6A (1

each)

¢ End Rail Post

1145 max.
(3'-99

For side-mount
bridge rail, flare
curb face to
edge of deck.

|
|
i

~

.M%%é

/)

B

7

%

Bridge approach curb

]

o

Pay limits

B

of other type

Guardrail connect

“’M
plate assembly

Face of bridge rail

Modified thri
beam end sho

Lo a

J

Two sections of thrie beam one set inside the other

‘ L s

‘1

¢ 25 (Wnholes

PLAN

Transition section included in
TRAFFIC BARRIER TERMINAL TYPE 6A

[ (3.4mm (10 gauge) rail element) '

2.858 m (9'-4%,") I 6.667 m (21'-10//5"")
Bridge rail 6 spaces at 476 (1'-6%;) 7 spaces at 953 (3'-1l/,")
Guardrail connection
plate assembly \ — — — — = — — — —
ST=o = 1 T T T T T S 0. T T T s e, = — |
SEIERAN e TS e o 1
f —% = = = = v = ==t L= = = ==t T —— f
o 10 %E
=R . . . . . . . . . . . I —l
b b b B b P b b b b d Lo AN 4
% P P b b P b b b P b P i 8
o . - . - . - I i v - ! T P -
E P P P P P b b P P P . i N
S b b b P b b P b P b b P 8
o L L Lo . Ll - L - Ll Lo Ll P P
1 2 3 4 5 6 7 8 9 10 1 ) el
12
ELEVATION
610 (2°) min.
all posts Wood Blockout (typ.)
\ This standard shows attachment to curb
mounted bridge rail. Attachment to side
_ —_— mounted bridge rail is similar.
See Standard 630001 for detdqils of
) guardrail not shown.
)
b ol=~
5 3 @ g Thrie beam rail shall be bolted to block-out
> 2l Bridge approach curb at all posts.
-~ |~ o
el i —l///ﬁ_ See Standard 420401 for details of bridge
Q’ A@gy " ~ [ approach pavement.
) 2 > 74 © SASA - e
Ao 4 . s . ) . %
Q_“N3/ Ei E N E ' pe e e m All slope ratios are expressed as units
;;%§§M : : : : ' THIS DETAIL IS APPLICABLE TO THE GUARDRAIL of vertical displacement to units of
" . u ' horizontal displacement (V:H).
; ! _W150x13.5 (Wex3.0) . : INSTALLED PRIOR TO JANUARY 1, 200T.
n i/ Steel post and wood . ' All dimensions are in milimeters (inches)
n : block-out (typ.) : : unless otherwise shown.
Y N T A Rl L L
S R S
s n v DATE REVISIONS
4-1-06 |Added a General Note. TRAFFIC BARF\)IER
IS N S .- TERMINAL, TYPE 6A
Sheet 1 of 3
SECTION A-A SECTION B-B 1-1-04 |Revised bolts and bolt
spacing in connection STANDARD 631032—02
plate & wood blockouts.,
FILE NAME = USER NAME = poesl DESIGNED - REVISED F.A. . SECTION COUNTY TOTAL | SHEET
pen\Aplonroom.dot.llin PWIDOTAD: ts\IDOT OF fices\District 9\Projects\GaomelIRANN to\Geonetrica\guardrail.dgn REVISED STATE OF ILLINOIS TRAH::\(I: STB AI.:I::JE RP'.:IE ORRM!I.I\:)AIJ A.I.J:IE-\RGYA SI:ONDARD F\e/./rxi'_ D9 GUARDRAIL REPAIR FY22-1| VARIOUS SHEETS ng
PLOT SCALE = 26.0000 ‘7 in. CHECKED - REVISED DEPARTMENT OF TRANSPORTATION 1, 7 CONTRACT NO. 78868
Default PLOT DATE = 2/11/2021 DATE = REVISED SCALE: | SHEET OF SHEETS| STA. TO STA. JiLiNoIs[FED. AID_PROJECT




Bolts (A307) with washers

€ 25 (itoles and self locking nut or nut ¢
| 077(1 jam nut. Top bolt 22 |
; ; 51 I {(7%)by 229 (9, Bottom bolt '
Guardrail connection ——1 b 7 |
(2) ' 22 () by 127 (5) for curb i
plate assembly T Uts en—L ] mount or 22 (%) by 179(7) for
) e side mount. ~ I
” i
~ |
5 = - | |
S A * Bolt 22x127 (3x5) R = K&
¥ * * % Bolts 22x31 (Vx2) ol N '
S
Thrie beam — =
end shoe * % — -
Note: -
. — =i Side mounted rail
g similar as to -
c i connection details. \\':2
- .
O 15T el
A Ele O+
«© ~| ~ + [ |
Vg Mngogo
== I &) 5
[SVE o] :9 ,Q_J
Ml O L v
MM 0 [v)
>
’/ y/ / /\
\Finished surface ’
SECTION C-C POSTS 1-11 WOOD BLOCKOUT DETAIL POST 12 WOOD BLOCKOUT DETAIL
- EESE
(3) =
762
_.J0 .50 (30)
i (2)
<3 Z(giOZ' 108_, 108 ,76
ol | !
"~ | e
el : P4 1(4'/9),(4'/2)] (3)
~ . . . . -
_é_ H q.D ! Q.b ~ %
RGN S b |9
IR R S S e e
= ~ ] Q'b t Cb -
© : .
SR .-4)__49 _______ S Sy S S 2
== | I l . $ e THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
Y . | n|=<
ﬁ*g /oo i\ | A% INSTALLED PRIOR TO JANUARY 1, 2007.
2 -
AR [ 25 w oie. 19x64 (Yax2V/p)
= Rales Gthed slotted holes
2|5><+5J} ((ljxa) | (typ.) TRAFFIC BARRIER
slotte oles
(typ.) TERMINAL, TYPE GA
Sheet 2 of 3
MODIFIED THRIE BEAM END SHOE DETAIL
STANDARD 631032-02
FILE NAME = USER NAME = poesl DESIGNED - REVISED - F.A. . SECTION COUNTY |JOTAL [ SHEET
pe\\planroom.dot.illin PWIDOTAD: s\100T Of fices\District 9\Projects\Geomel3RANMN to\Geometrics\guardrail.dgn REVISED - STATE OF ILLINOIS TRAFFIG BARRIER TERMINAL: TYFE 6A STANDARD F\e/./rxi'_ D9 GUARDRAIL REPAIR FY22-1| VARIOUS SHEETS ":2
PLOT SCALE + 260000/ i CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION INSTALLED' PRIOR T JANUARY 1,007 CONTRACT NO. 78868
Default PLOT DATE = 2/11/2021 DATE = REVISED - SCALE: |SHEET OF SHEETS| STA. TO STA. JiLiNoIs[FED. AID_PROJECT




73 102102 63
%) | (@ i (4)i 2V R i3 g
R ol e e ¢ 4-25(1) holes
I Lo oY |13 ! /2) |+ for 22 (%) H.S. bolts
o I 1 d nuts
D R ae 0 on
. 4l ———y——- <|s - 5 ¥ Drill and tap 3 holes
Eoom T Ol = for 22 (%) H.S. bolts.
Transition < Y N N T e _ - - -
late —_ e == —~ imensions
plate _\ \ I—"i"—‘i—'— ____________ c_n _2___ 5 = _ M
T~ | 5] 28 = For Curb 222 | 89
3 D e ——- . -’:’mﬁ_é - Mounted Rail | (8% |3/
A P S dzoociooes P |2 i
H Nz
13 (/) _P I T i - o For Side 247 | 64
|2 Mounted Rail | (9% | (25
— O™
ol " -/
340 s} 13 (/5)
(13%) 127 127
(5 End of rail ca (5)
39 — %, p By | e 39
(1'/5) i 44 (3) 44 44 (3) 44 I_I_ (1'/5)
GUARDRAIL CONNECTION PLATE ASSEMBLY DETAILS N Il SR s 2 T o -
N i L - ' = ~
(Mirror for opposite end) o|Z mlg Iy M= i I = i Lnli\,' olS
! | l :
| AT | T e S I
N =i ols HEEE N
SN & N5 I; Q= :I % S S B _
. o ﬁ= -------------------------------- AT . T4
7 O3 < . oS Il Ro|| cop O"‘RGH cap ol X oIl = NI
a7 (32|A6) - | 38 & 8 gj%‘ 2 E = ~ ! By o-l-hers) Qe (By others) | = = & e :"OLR‘ ol
5 (%) (16¥6) i aay Al NS Ghe) J_ 37 1o S HeTTTTTTTTTTT # = % """""""" - Py I _.L
| | Y e ATV e [ £ T
| | ~
i SR - 7
Transition plate / Jr :T& 4| 2+2+><3é %Tl'/ﬂj 19x38 (¥ax1Y/5) _/ L 12Tx76x6.4%553 \_ 19%38 (¥ax1Y/a) \_ 4-22x31 (Yax1'/)
F|’_102x10x824/ = SIOTTE0 Poles slotted holes (5x3x!/4x20¥,) slotted holes slotted holes
(Ax34x32%6) 2-25() holes
VIEW D-D R 13x533x340 DEPARTURE END VIEW APPROACH END VIEW
(//2x21x13%)
fex2li3te CONNECTION ANGLES
(Install angles to rail caps using 19 (%)
washers and self-locking nuts or nuts
824 and jam nuts, to be provided by others)
(32%¢)
417 , 369 1 38
5 Ye) (16%s) | (14 ! al
| |
Transition plate . 4.
13x152x321 (V/px6x12%) A N —1
' \
£102x102x9.5x824 3 ‘ : : 2-25(1) holes THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
(4xAxYx326) . 305 175 1,242
(12 6% | I (9'/;) INSTALLED PRIOR TO JANUARY 1, 200T.
o 102
/\&
¢ 2-25() holes in
SECTION E-E o'+ !9 of onde TRAFFIC BARRIER
TERMINAL, TYPE GA
Sheet 3 of 3
STANDARD 631032-02
FILE NAME = USER NAME = poesl DESIGNED - REVISED - TYPE 6A STANDARD fopa s SECTION COUNTY  [JOTAL | SHEET
pe\\planroom.dot.illin PWIDOTAD: s\100T Of fices\District 9\Projects\Geomel3RANMN to\Geometrics\guardrail.dgn REVISED - STATE OF ILLINOIS TRAF'::\(I:S.I.BAI.:I::JERP':IEORRM!I.I\:)AI;A.I.I\YI:ARGY 132007 VAR. |09 GUARDRAIL REPAIR FY22-1| VARIOUS 20 17
PLOT SCALE = 26.0000 * / . CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION ! CONTRACT NO. 78868
Default PLOT DATE = 271172021 DATE - REVISED - SCALE: |SHEET OF SHEETS| STA. TO STA. JILLINGIS[FED, AID PROJECT




Pay limits of TRAFFIC BARRIER TERMINAL TYPE GB (1 each)

A\

A

5 Epoxy grouted M20 (¥
anchor bolts =

v

2 @ blockout-
epoxy grou

anchor bolts *

B

TN

nted

N

953 (3'-1/5') c-¢

LTS

b

7

]

Pay limits of

other type

7

]

After tightening,

anchor bolts flush with

nuts, and damage

See Modified Thickness Wood Blockout Detdils
* With standard washers.

cut the Note:

the nut to

prevent it from loosening.

See wood block
detaqils A, B, C. & D

Single section of thrie beam 3.81m (12°-6"")

Two sections of thrie beam one

PLAN

set inside the othe

n

Transition section included in
TRAFFIC BARRIER TERMINAL TYPE 6B

(3.4mm (10 gauge) rail element) '

| yi pa ! ‘
r 4 r g | , i
COREFETS : 2.858 m (9'-41/," | 6.667 m (21'-10Y/,") |
Thrie beam structure | 6 spaces af 476 (1'-674") 7 spaces at 953 (3'-1/7")
end shoe e 184
: 7'/
T DR — I — =IE =i B — — — — — <D — — — o = —
= = TS T =T TS T — = = = = = = . = = = cc::\:‘:: T
OC I: ; . — — — P — — — — — — = — — — —= IE—;L/’ RN
C" e e = = . . =t = o e Toh St — = =t ==t A =
o~ ° e o ! ! ! ! ! 1 ol . i M i . i o N :
R =
NI 7/ QY vk QI MUK IR VA > \\\///é ’7//&\ % 4 «Q///AQ ’//A<\\ :///AW//A@ 5///A®V//A<\\ W\ EV/W//A@ W\ ///M/A@ L G
S B B B | | | |
! S P b P Do Do P P P P b P I
1 2 3 4 5 6 7 8 9 10 1 1>
610 (2') min. hoos Blockout ELEVATION
00 ockou
all posts pa THIS DETAIL IS APPLICABLE TO THE GUARDRAIL
T e~ - fég'_"gﬁ’ INSTALLED PRIOR TO JANUARY 1, 2007.
(3) ' ' -
- 762
—] R0 30 GENERAL NOTES
—~ |
ol . 203 108 , 108 76 See Standard 630001 for details of
§§ °le ;8 [(4/0){(4'/a)] (3) guardrail not shown.
E|c [ | SSRRNINS - Thrie beam rail shall be bolted to block-out
2 (I\J __-_-.4;. I cb | d? S,,E at all posts.
ol S SR 7 S IO S oy IR A
— |~ ' T T
““o%-\ YIRS V‘M ol 1T ! ' SRS - All slope ratios are expressed as units
\-.’L/L&\?///ﬁ =l ---—--6}9—<IL | I | o[ of vertical displacement to units of
q’// W150x13.5 (W6x9.0) \ sl i | CE ! Cf - horizontal displacement (ViH),
groi?!_ggff and wood —[= | @ L I | e All dimensions are in millimeters (inches)
: : L. ) Q | ! KP 0> unless otherwise shown.
il s L /e i \p ||
cer it
H = < 3, 5ol
- S8 LRLY [ e it TRAFFIC BARRIER
u H - X X
P slotted holes TERMINAL, TYPE ©B
Sheet 1 of 2
SECTION A-A THRIE BEAM END SHOE DETAIL STANDARD 631033-01
FILE NAME = USER NAME = poesl DESIGNED - REVISED F.A. . SECTION COUNTY |JOTAL [ SHEET
pe\\planroom.dot.illin PWIDOTAD: s\100T Of fices\District 9\Projects\Geomel3RANMN to\Geometrics\guardrail.dgn REVISED STATE OF ILLINOIS TRAFT:\ICSTBAI.:-I:-::JERP';I.IEORRM.II.I\(‘)AIJATI\YISZR(;B 1s::£DARD F\e/./rxi'_ D9 GUARDRAIL REPAIR FY22-1| VARIOUS SHEETS ng
PLOT SCALE = 26.0000 * / n. CHECKED - REVISED DEPARTMENT OF TRANSPORTATION ' CONTRACT NO. 78868
Default PLOT DATE = 2/11/2021 DATE = REVISED SCALE: |SHEET OF SHEETS| STA. TO STA. JiLiNoIs[FED. AID_PROJECT




/

533
(7%) ,/' 6¥a)

1)
168 / 194 ; 17

/

[ e !

“ o2
QO

MODIFIED THICKNESS WOOD BLOCKOUT DETAIL

/—M20(3/4) x 100 (4)Bolt

152
(6)
Concrete

A structure
o %) !
i o

L

s}

>

WOOD BLOCKOUT D

Bolt to thrie beam

with M20 (¥ by 100(4)

bolt, washer &

of insertion, *

nut.
Reverse direction

{_ Ny
| \\\\\\\\\\\\\\
! d
.
—~| &
~ | ™~ o~ X
v—l‘;? z—]: -
M|~ Y )
M) [ = 7 "~
wn | N P -
e @x o
A
== . w
\\\\\;i
=
L
\.\
0| <o
O | o
T
T

POSTS 1-11 WOOD BLOCKOUT DETAIL

L

POST 12 WOOD BLOCKOUT DETAIL

_/\_
e
Sk,

Concrete
structure

152 i il

13) ~ [

50, ZIX |Concrete N

(2 = | structure Epoxy-grouted — = e

. i —— ! M20 (¥;) anchor bolt B
[ o
——— i 251 3 ;
T T :

- | § A

— N e —

203 (8) for A
Varies for B

—A—

Thrie beam 4

i -
%Thrie beam  N=M20 (¥a) x 100 (4)Bolt ﬁL

WOOD BLOCKOUT C

WOOD BLOCKOUT A & B

THIS DETAIL IS APPLICABLE TO THE GUARDRAIL

TRAFFIC BA
TERMINAL, T

RRIER
YPE ©B

Sheet 2 of 2

INSTALLED PRIOR TO JANUARY 1, 2007.

STANDARD 631033-01

FILE NAME - USER NAME = possl DESIGNED - REVISED - TRAFFIC BARRIER TERMINAL TYPE 6B STANDARD Rk SECTION COUNTY  [JOTAL | SHEET
pei\\planroom.dot.i Il PWIDOT\Docubents\IDOT Ofices\District 9\Projects\GaomelHIRANIN ta\Ceometr ic3\guardral.dgn REVISED - STATE OF ILLINOIS INSTALLED PRIOR TO J'ANUARY 1. 2007 VAR. |D9 GUARDRAIL REPAIR FY22-1| VARIOUS 20 19

PLOT SCALE = 26.0000 '/ in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION ! CONTRACT NO. 78868
Defoult PLOT DATE = 271172021 DATE N REVISED - SCALE: [ sHeET oF SHEETS| STA. TO STA. [icinois]Feo. el PROJECT




5/8% X 1 1/4° L6 HOR C—A-T BILL OF MATERIAL
BULTS & NS PC 984 SIDE PL 10 GA PC 99154 D PC 316 5(B 1/2° PLATE D PL 1904 NOTE THE " o DESCRPTON
=
BOTH SIDES W/HOLE FOR CABLE ASSY. 12 GA =] PC 192616 10 GA PLEee DIRECTION OF 36| 2 [12/12'6/0 CAT (GUARDRAL)
FACING POST 2 BOTH SIDES THE RALL LAPS 130A_| 2 | 10/12'6/510:6'8/5P CAT (GUARDRAL)
| | ) — ] 7056 | 1 [2" x5 1/2" PIPE
: T % ¥ - 7406 | 6 |4% TUBE SLERVE
| : / 7696 | 6 |1/4 x 18 x 24 SOIL PLATE
by L — 7826_| 1_|5/8 x 8 x 8 BEARING PLATE
:l“ I
! \_ SoLcE BouTs N s < 9836 | 1 |10/NOSE PLATE/CAT/ROLLED
=1 1 — 3/8" ROD — 3/8" ROD 984G
1 L () A 2| 10/SIDE PLATE CAT
, HElH & _ I 30126 | 1| CABLE 3/4 x B'0/DBL SWG
L I — ————— 30748 [ 5 |WD 3'6 POST §2, 3, 4, 5, 6 CAT
TS - / \ \ / 30758 | 1_[W0 3'6 POST 41 CAT
31008 | 2 K 172 41 CAT
2 I 7 1= TUBE PC 99216 B PCISA (5 Jo TUBE PC 99216 L 31018 | 10 | WD BLOCK 1'2 §2-6 CAT
D 10 GA D ) 32556 | 4 |3/8 FLAT WASHER
TRAFFIC 32636 | 4 |3/8 x 2" LAG SCREW
AT 31’3 AL END 32756 | 2 |3/8 x 24 1/2" RESTRANT ROD
| — | 33006 | 20 |5/8" FLAT WASHER
| 6-3 §-3 §-3 | -3 §-3 | NOTE: FINAL STAGE AND BACKUP 39206 | 4 13/167x 1 3/4" x 3 RECT WASHER
5/8" PLATE c G WAY BE VAREED DEPENDING 33406 | 85 [5/8" GR. NUT
P/C 78;3 A B E G UPON EXISTING RAILING 33606 | 16 |5/8" x 1 1/4" GR. BOLT
PC 192716 | SYSTEM OR WHEN USED AS 33806 | 8 [5/8" x 1 1/2" HEX BOLT
PIPE SLEEVE | |_|_|_|__5/8 0 X 1 1/2 LG HEX I | ! QHCER’:E{‘TO%USH'O" 33956 | 30 |5/8" x 1 3/4" HEX BOLT CAT
34786 | 13 [5/8% x 7 1/2" HEX BOLT
= o — == . = r e—-- — 34976 | 6 |5/8% x 9 1/2° HEX BOLT
o, R I_L l_l_‘ e = Ly ret—h . 36506 | 2 |5/8'9 x 25 GR. BOLT
B o NIt N Ll i1 Lid=—"p > 39006 | 2 |1” FLAT WASHER
H o HEr -y .0 ] h Al ] 39106 | 4 |1" HEX NUT
5 5 T ~ 42506 | 8 |3/8" HEX NUT
5" L 42586 | 4 |3/8" LOCK WASHER
> : 7 - L+ -|I. [ /—GROUND LINE L] 46406 | 8 [5/8" x 24" HEX BOLT
' I %\ %) %\ - 9852A | 1 | CHANNEL STRUT x 6'=6"
) \ \ c Ve ! , 9915A | 1| SPACER CHANNEL CAT
Vo exysmr o0 i By | i PG 7696 9916A | 1 [ 10/BENT PLATE SLEEVE
! PC 9852A vy L g Ly ! L. ! 1/4” PLATE TYP AT 99216 | 2 |6 SLEEVE 6 x 8
ol }_JI RO MG 30T GE T T v I T AL WooD 192596 | 32 [3/16° x 2 x 10°_PLATE WASHER
eoFoR |l 'k Vb Al L t g 192616 | 2 | 1/2 x 3 x 7 POST PLATE
LOCKNG y ¢ () VT T vr [ 192716 | 1 [1” x 2 1/2" PIPE SLEEVE CAT
| [ (N (RN L 1
' 1 1 1 1t 1
: : : : : v (N 1 PC 7406 TYP AT
\ [N 1 [ 1 [ ALL WOQD_POSTS
| 111 Lo :u: :u: =|= 6" X 8" TUBE
() "
! & ! ! el i R PC 32756 3/8'¢ ROD W/4 NUTS & 2 LOCK WASHERS
A B
PC_3320G _WASHER
PL 1 3/4" X 3/16" X 3" LG w0 4 22 M T C E C 6
5/8" X 7 1/2" HEX HD BOLT & NUT
BOLT & NUT W/2 PC 33206 WASHERS R e Mt s ¢ i 8 TUBE PC 921G
WOOD BLOCK WOOD BLOCK WOOD BLOCK K * DOWN FROM WOOD BLOCK
PC 31003 PC 31018 PC 31018 7 / TOP OF WOOD POST PC 31018 LOCKWASHER
58 / U WA e\ L £ %
PC 9916A SLEEVE— .
WASHERS (CUT OFF 5/8" X 1 1/4" HGR. o 5/8% X 24" HEX HD = SPLICE BOLT PC 3395G = ] 5/8% X 24" HEX H SECTION D-D 3/ ex, NI
—1' - EXCESS & PEEN THDS) o - BOLT & NUT (TYP) BOLT & NUT W/ 2 WASH N[ ng;JT W/2 PC 192596 WASH =] BOLT & NUT W/ 2 WASH SEVIIVIN U=U
5/8% X 9 1/2" HEX HD T F N
PC 19271G PIPE BOLT & NUT W/2 WASH uT PC 705G PIPE INSERTED IN POST 13/16" _ \ | 13 16"
INSERTED INPOST RECOMMEND BOLT HEAD OF '\ pC” 98524 5/8 803 1/2 HEX 3/8% X 2" LAG SCREWS 5/8 812 1/2 LG HEX HD
e STRUT BOLT BE PLACED ON ‘\ HR Y s A
PC 7826 5/8" PL SHOULDER SIDE OF POST _ L O | L _ 1o | O |
% \ ) W%\ V %\ )
STRUT PC 9852A
PC 30758 PC 30748 PC 30748 PC 30748 \_
_— oo P - WooD poST - WooD posT WooD posT ....-u oD, PosT 6 BT_[B-9-00 | CHANGED SYSTEM HEIGHT, WAS 23"
_\ Lol / \ 5 IH |6-22-00| REPLACED PC 766 WITH PC 769, CHANGED TITLE BLOCK
_/ \ / 4 BT [4-10-97|ROTATED BLOCK PC 9921 90° AT POST 4 & 6
PC 769G \ PC 7696 / PC 7696 3 BT [3-10-97| DELETED PC 3072, 3073, 4470, CHG QTY 3074 & 3478
SOIL PLATE SOIL PLATE SOIL PLATE 2 BT [8-12-96| SECTIONS A-A & B-B, CORRECTED PIPE SLEEVE PC No
5/8" X 7 1/2" HEX HD 5/8" x 7 1/2 HEX HD 5/8" X 7 1/2" HEX HD | 4 BT [5-1-96 | REVISED PC No 31G & 130A
\ BOLT & NUT / BOLT & BOLT & NUT p—
T PC 7406 — T I N _ /L S B N —
6" X 8" TUBE 5 X S ToBE SECTION -G (§) B X 5 TuBE 3)»))))»)“"“ W < A | |
SECTION A-A (D SECTION B-B @ SECTION C-C ®&® SECTION E-E ® CRASH-CUSHION ATIENUATING TERMINAL oo BT
PLAN, ELEVATION & SECTIONS FOR USE EN
5/8" DA — AS A LONGITUDINAL MEDIAN BARRIER TERMINAL [ NTS.
L Rk OR CRASH CUSHION ATTENUATOR DE  7-15-04
|_1"_|UNTHREADED ™ 33956 SPLICE BOLTS ARE USED T ENG. FLE # 55245-01E
L ALLOW TELESCOPING ACTION. e —T———— N TRINITY INDUSTRIES, INC. ST ET o
INDUSTRES, INC. Neither the dmng such informotion is to be used for HIGHWAY SAFETY PRODUCTS Ty =
PC 33956 SPLICE BOLT any purpose other than that for which it was specifcaly fumished by TRINTY ‘ ' 2525 STEMMONS FREEWAY, DALLAS, TX 75207 " 6
—_— = INDUSTRIES, INC., nor is any reproduction outhorized without written permission. SS-245
= B s - F.A, TOTAL | SHEET
Bl e et - TR WTE + poee] DESIGNED REVISED CRASH-CUSHION ATTENUATING TERMINAL RTE. SECTION COUNTY _ ISHEETS| “NO.
NSl snvoomidon PWIDOTAD +s\IDOT Of fices\District 9\Pro jects\GaomelIBANN to\Geometrics\guardrail.dgn REVISED - STATE OF ILLINOIS (C-A-T) VAR, |09 GUARDRAIL REPAIR FY22-1] VARIOUS 20 20
PLOT SCALE = 42.0000 ' / in. CHECKED - REVISED - DEPARTMENT OF TRANSPORTATION CONTRACT NO. 78868
Default PLOT DATE = 2/11/2021 DATE = REVISED - SCALE: | SHEET OF SHEETS| STA. TO STA. JiLiNoIs[FED. AID_PROJECT




